A= RXRHEEE

X

A
=

P %113

I RERISTER/NFIUI RS

ERk 29 £ 10 B

22 H

2EEE

R =

(@)

TELX [F#EH

# H

%
n
1

3l

T 29 &£ 10 A 22 A(

H )

AN
=

15

iz

N=PAN
2y =]

16 F—4

zF

BA | BFE

AN BF#&E

F—L BF 51 A
| ZFH AN &ZFE Al MIX

I BB T SR AR (A H B8

¥

49

A

#8

3E(BE-LE - 40 LL LM DEE

100m L LS YO R)

g5z

K 4%

B

i

B

SECOND LEON

MET SR

MmN/ \—

NnNadov3>7 A

more attack

pinky

nNias>7 B

HIBAR v L

Treasure B

AWANOYSTJ

Treasure A

51D

J0—/\—

TER—/\—

& 1Bk

— ] — ] — ] ] ] ) —h
slalalals|Z|a|e|c|[v|o|a|s|w|d=

B 37

¥l

& iz

K 4

&

&

&

X BEFATILR—LZTERE

XEMBZEVT LBDERIRMAEREREICBLE)



